PAPER-1

F7FH / Roll No.

FH-Fig FH# / OMR Answer Sheet No.

99T« / Declaration :
7% 587 73 | 57 79 FETT @) veet amw o 8

| have read and understood the instructions given in this page.

TR H g

D

Q. Booklet Code

SHHEh
Question Booklet Sr. No.

T FrgTeae ) Wl

Seal of Superintendent of Examination Centre

et &7 FETAT /Signature of Candidate
{(HTFTT 77 % TR /as signed in application)

HeT [0 & E&A1E / Signature of the Invigilator

qeie B TS % ,
Name of Candidate : ﬂ@"@ @y
e ————————————————— . . ay—
rqﬁmaﬁﬁamaﬁmmﬁawﬁrﬁﬁﬁﬁaﬁﬁﬁmwm(m)mél B
7T G e ¥ R 7F Y avl wEn o 3 B W 5 % o T & Wﬁwmmmwwaﬁ# v.‘gﬁr 3w
IWEF?WF}?/” FgEr S OR

ITo be copied by the candidate in your own handwriting in the space given below for this purpose i
“You will know you are in the right profession when : you wake anxious to go to work, you warnt to do your best

I important.”

—

POST APPLIED FOR:

ﬁ 5 ?’53} # " 12 191 5% ks E I} . # 78 Questions
No. of Pages in Booklet including title Time 1.30 Hours | |{_»300 No. of Questions in Booklet
PAPER-1 i:ggi%zlsiaagge; FogiER FHiw, Ques@{ kﬁf‘*ﬁ No.

Sig@H# / Roll No.

@47 il & FErst /Signature of the Invigilator

FeGlIHT FIE

gitemelf w1 8/

Name of Candidate :

D

% foe FEY /INSTRUCTIONS TO CANDIDATE

Q. Booklet Code

vttt Ry e e

Instructions for the Candidate :

1. 30 mA.an, e & e
T T R U H B 3T

1. Use BLUE or BLACK BALL POINT PEN only for all entries and for filling the
bubbles in the OMR Answer Sheet.

2.

2. Before opening the SECURITY SEAL of the question booklet, write your
Name, Roll Number (In figures), OMR Answer-sheet Number in the space
provided at the top of the Question Booklet. Non-compliance of these
instructions would mean that the Answer Sheet can not be evaluated leading
the disqualification of the candidate.

Each question of PART A & B carries FOUR marks. No marks will be
awarded for unattempted questions. One Mark will be deducted for wrong
answer.

v T U @ e W) 8, e o 2 Em

Each multiple choice questions has only one correct answer and marks shall
be awarded for correct answer.

;aw T3 ®F, TR ITH0 a9 TE T A w
|

Use of calculator, log table, mobile phones, any elecironic gadget and slide
rule etc. is strictly prohibited.

= T Ha SEd B oAty wan sy 5 omfa w § & Seed

Candidate will be allowed to leave the examination hall at the end of
examination time period only.

Paper #1 He %ae TR ¥F 514 % 707 W & e SR

7. 4R e E:I‘llftﬁ % T e 9 9Tt A1 o wvh, S 9§ Fe (7. if a candidate s found in possession of books or any other printed or written
o mHA/FHA 8, TR T, @ 3 s A w1 fmn o oawa 81 material from which he/she might derive assistance, he/she is liable to be
TR, a w1E sraef G o veR ) meEw S ot wh | o e treated at disqualified. Similarly, if a candidate is found giving or obtaining (or
(= Eela R keaher i) LT B =T Gl'l'él"'IT, T off amm =i G attempting to give or obtain) assistance from any source, he/she is liable to be
E e disqualified.

8. ot oft wm S o H wE-uEe % ST ot ® @ w9 sifam AR 8. English version of questions paper is to be considered as authentic and final
FE to resolve any ambiguity.

9. OMR sheet 38 Paper % iR & 7o W R e W e # T |9. OMR sheet is placed within this paper and can be taken out from this paper

but seal of paper must be opened only at the start of paper.

10. witan & g sienam e Bt e w1 o= T Yy

10. Do not forget to collect Carbon Copy of OMR sheet after the examination.







PART A : GENERAL COMPUTER USE SKILLS

L.

Ctrl + D shortcut key in MS Excel will

(A) Open the Font dialog Box

(B) Apply the double line for the
active cell

(C) Fill down the selection

(D) None of the above

Which of the following options is not
available in Paste Special dialog box in
MS Excel?

(A) Add

(B) Subtract

(C) Multiply

(D) None of the above

Which of the following you can paste
selectively  using  Paste  Special
command in MS Excel?

(A) Validation

(B) Formats

(C) Formula

(D) All of the above

You can use the formula péilette to

Internet location of a computer or

server on which a hyperlinked
document is stored known as:

(A) Web Browser

(B) Web Page

(C) Web Site

(D) None of the above

---------- is the real-time trapshnissioh to

the public in a digital f_orﬁlafi;;f(')f audio

and audiovisual Wg)rk'
The correct orddr ofthe above is:
(A) Webghiging

(B) b sirfing

<) "‘fﬁéwnloading

¢ (D) *None of the above

What are the terms spiders and crawlers

most closely related to?

(A) Internet

(B) Modems

(C) Electronic News Services

(D) All of the above

in MSEE el 9. On Internet ---------- refers to sending
(A) Format cel‘l;?ﬁéb'ﬁ {'éining qumibers unsolicited mail such as chain letters,
(B) er\@j‘;le"‘; : n?and edit  formula Gt BETIRIng,
containlng functions fadp Senalling
(©Y '-:f;\]:iri:fer assumptions data () epamming
(D) None of the above (C) Steahag
gl-‘:;._,,:{'fWhat does COUNTA () function do in (L) None orths above
MS Excel? 10. ISP stands for
(A) Counts cells having alphabets (4)  Internet Solution Provider
(H) Coits ety sells (B) Internet System Provider
(C) Counts cells having numbers () Tnifernct.Seviae. Frowities
(D) Count non-empty cells (D) Internet Software Provider
SET-D Page - 1



PART A : GENERAL COMPUTER USE SKILILS

. 1ight o cople not to revea . ich of the tollowing can be used in
11. Righ f peopl 1 16. Which of the following b d i
information about themselves is known portable computers to replace the hard
as disk?
(A) RTI (A) Cache Memory
(B) Privacy (B) Random Access Memory
(C) Security (C) Flash Memory
(D) None of the above. (D) None of the above. ~ LA
] 17. Which of the following 1sn0tan
12.  All diskettes must be ---------n--- before ~\ )
example of file management Corfimand?
they can store data. \ L/
Ay Co
(A) Named &) 3
(B) Format
(B) Saved {t ¥
(C) Rename™= ..’
(C) Formatted /., |
(D) All ofigheabove.
(D) None of the above v )
18. Software feature that allows a single
13, —emmeeee systems are used in lieu of
k&ystrgke or command to be used to
tvped passwords to identify people ¥ . .
wautomatically issue a predetermined
authorized to use a computer system. F oS 2 _
) series of keystrokes or commands is
(A) Bioinformatics
known as:
(B) Biometric
(A) Menu
C) Biophysi
Lo RO (B) Groupware
D) N f these.
(D) None of these -\ (C) Macro
14. Smallest unit on the Scr.‘-e@?fhaﬁ can be {0, Wowre vPilie dlove.
turned on and offor ma&e different 19. In a GUI, a picture that represents a
shades 15 called:,__}_‘ command, program, file, or task is
&) Buttor{’ :‘:Q*:‘:a called:
(B) ICOH (A) Symbol
((?) Blt o (B) Menu
) Rixel. © Icon
ISA ------------- looks like a credit card (D) None of the above.
but gonfaby @ usroprovessar 20. Software that enables the users to view
memory chip. Web sites on their computers is called:
(A) Sound Card (A) Search Engine
(B) Graphic Card (B) Web Browser
(C) Smart Card (C) Web Directory
(D) None of the above. (D) All of the above.
SET-D Page - 2



PART A : GENERAL COMPUTER USE SKILLS

21. In MS Power Point the following is not 26. In MS Word page number option is in
an option when printing handouts (A) Page layout menu
(A) Six slides per page (B) View Menu
(B) Four slides per page (C) Insert Menu
(C) Five slides per page (ly Ione ofthe abave
09 “ThresSiidesper nase 27. The shortcut key wused for center
22. In MS Power Point the translate option alignment in M8 Word.
(A) Ctrl +E
18 1N ==---=- menu
(A) Desi (B) Ctrl+C
esign ¢
B) View (C) Ctrl + Alt + E .
(D) Ctrl +A1t’*=+ &
(C) Review
28. The ablllty to combme the name &
D) Format
®) addre&sezs Wlth a standard document is
23. In MS Power Poimnt different chart o d
styles are in ------- menu. (A) Document formatting
(%) oiert ~) (B) Database creation
(B) Format (C) Form Letters
(C) Storyboard (D) Mail merge
(D) Animation 29. In MS Word HOME key is used for
24. In MS Power Point the foll‘ ng will (A) Moving the cursor beginning of
not advance the slldes fn a“slide show the document
view : (B) Moving the cursor beginning of
(A) The Ege::;key the paragraph
B) The Sp Toe bar key (C) Moving the cursor beginning of
(G) The Enter key Hh Tiie
/ (D) All of the above
'(D) The Mouse button
30. Which of the following menu has
284 In MS Power Point various templates
_ watermark option?
are in
(A) Design
(A) Design menu (B) Page layout
(B) Insert menu © Tool
ools
(C) View menu (0} Beview
(D) None of the above
SET-D Page - 3



PART A : GENERAL COMPUTER USE SKILLS

31. What is the shortcut key to change the 36. Always to create a formula in MS Excel
Font in MS Word which of the following is correct
(A) Ctrl+F (A) Only wvalues but not the cell
(B) Shift+F references are used
(€) Ctrl + Shift + F (B) Only cell references but not the
(D) Ctrl + Alt + F values are used
(C) Both values and cell rqféi"éﬁééé'
32. Generally, which of the following is
are used
included in paragraph formatting in MS (D) None of the above\
Ward 37. Hyperlinks can beg :
(A) Subscript (A) Text
(B) Superscript (B) Draﬁiﬁé__@bjects
(C) Line spacing (©) P1etures
(D) None of the above ‘ (D), A]] of the above
33. Which keys are used to remove the 3 8. NA workspace in MS Excel is a
entire formatting of selected items in 7 (A) Group of columns
MS Word (B) Group of Worksheets
C) Gr f
(A) Ctrl + Space bar © OUp OT TOWS
) (D) Group of Workbooks
(B) Shift + Space bar -\
Vo A 39. An MS Excel workbook is a collection
(C) Citrl + Shift + Spage bar
2 ¢ Of
(D) None of the abovwe
& \N (A) Workbooks
34. Which is not a feature of MS Word?
AN (B) Worksheets
() SPRLYN* (C) Both (a) and (b)
(]?) Tfr%hé“late (D) Worksheets and charts
. (C) “Fhesaurus 40. Ctrl + R shortcut key in MS Excel will
(D) None of the above (A) Right align the content of the cell
35“.‘ ~ MS Word is which type of software (B) Remove the content of the
(A) System Software selected cell
(B) Application Software (C) Fill the selection with active cells
(C) DBMS to the right
(D) None of the above (D) None of the above
SET-D Page - 4



PART B : ANALYTICAL REASONING AND GENERAL AWARENESS

41. In a certain code language, ‘CROWD’ 46. Statement: The increasing population of
is coded as 23415924 and ‘“TRHICK” is our nation will lead to depletion of
coded as 162491997. How will many essential resources.

‘FRUGAL’ be coded in that language? Conclusions: (I) Population of our
(A) 1226761821 nation can be controlled.

(B) 1521012291 (II) The nation will not be able to
(€) 1512021921 provide a decent living of its citizensy
(D) 1221021186 Which of the conclusions followg frbt

42, Which of the following words cannot the statements? 7\
be formed by using the letters of the ) COHCIHS%OH Ifoll(?fs"
word: COMMUNICATION. (%) Uonelston Il gy
(A) Action (C) Neither Cofjejugion I Nor II

. follows =
(B) Unison o

. (D) BothCénglusions I and II follows
(C) Nation 47.  Staterpent: THE best way to escape from
(D) Union a probIem is to solve it.

43.  Find the number that does not belong to Co’ﬂclﬁsions: (D Your life will be dull,
the group: 8, 27, 125, 343, 1331. Nif you don’t not face a problem.

(A) 8 ~) (II) To escape from problems, you
(B) 343 should always have some solutions with
(C) 1331 you.

(D) None of these N\ Which of the conclusions follows from

44. Complete the sequence 69, 55,26, ,.13," .. the statements?

(A) 2 { LD (A) Conclusion I follows

(B) 5 (B) Conclusion II follows

) 3 (C) Neither Conclusion I Nor II
(D) 4 follows

45, Statements; (I) [P A T (D) Both Conclusions I and II follows
being.'?(:;IiIe) M human being needs rest. 48. “My grandmother seldom ever wants to
_'Qﬁﬁéi‘gsfons: (D) All human being are ey . kage the fagts,”

"fn_qf?-leaders. I Lol et v The correct sentence of this sentence is:
N ";'3"Which of the conclusions follows from (A My grandmother seldom SREr
W S— wants to try and face the facts.

' B) M dmother seldom if
(A) Only conclusion I follows e ¢ SR e LR
_ wants to try and face the facts.
(B) Only conclusion II follows
_ _ (C) My grandmother seldom ever
(C) Neither conclusion I nor II
wants to try to face the facts.
follows
(D) My grandmother seldom wants to
(D) Both conclusion I and II follows
try to face the facts.
SET-D Page - 5



PART B : ANALYTICAL REASONING AND GENERAL AWARENESS

49.  Which of the following sentence (s) is /

51.

The correct order of the following is:

are correct? A. At first, you think of it as just a
A, Make a special note of any special matter of growing bigger.
characteristics that a world has had. B.  There is nothing in the world
B. The judge Mr. Sharma increased more fascinating than watching a
the sentence of life imprisonment. elhgrow and develop: ~ 1)
C. Th the infant b to, :~d
C.  We had a lightish dinner. Fi, 2 LR 1hleh egms °
) _ things, you may thlnk: of it as
D. Ram is very good at putting on
‘learming tricksé
different accentual. .
D. Insome Ways Alte development of
(A) A only
each chlld retraces the whole
(B) AandC p
,_,hlstory of the human race,
C) A,BandC Yy
(© A Ban : ph’ysmally and spiritually, step by
(D) None of the above. ( ™ step
50. The correct order of the following is: E But, it’s really more complicated
A.  With the twentieth century, time § and full of meaning than that.
had to be much more exact. | (A) BACED
B.  After all, it had to keep paee Wlth (B) DABCE
the new science and Chnology (C) ACBDE
that was sweepmg:_ the modem (D) DACBE
whL 52. Analogy of- Physician : Surgeon :: ?: ?
world.
4 : (A) Nurse : doctor
C. Even one-hundredth of a second ) )
(B) Optometrist : ophthalmologist
m tt ed fields like ast , ,
a wbd in fields like as TR (C) Urologist : gynecologist
D '*Accuracy no longer meant (D) Neie of s shove
3 keeping time to the half minute or 53. Which is the analogy of -
even second. Botany: Plants :: ? : ?
(A) ABDC (A) Geology : Earth
(B) ABCD (B) Stars : Astronomy
(C) DCBA (C) Teacher : Class
(D) DABC (D) Disease : Eiology
SET-D Page - 6



PART B : ANALYTICAL REASONING AND GENERAL AWARENESS

54, e shall oversee the 58, e incubation seats at GoUP
work of nodal agency as well as recognized incubators shall be given on
decision  making  for  effective priority basis to startups with women
implementation of the startup policy. founders/co-founders on preferential
(A) Project Implementation Unit basis.

(B) Policy Implementation Unit (A) 30%
(C) Policy Monitoring & Implementation (B) 33%

Committee (PMIC) (C) 25%
(D) None of the above (D) 50%

53 B wemmmomemnon Governance  structure 59. Host institutes Willin.:,_.t(i;fg@,t f;cognized
shall be established for effective under UP Startu > Pbiicy shiall e
implementation and monitoring of the required to haf\:'fe".:ai'fi"oor R T
Startup Policy 2020. for educatmnal institutes and ---------
(A) 3-Tier for 1ncubat0rs occupying commercial
(B) 2-Tier space )

(C) 4-Tier N 1000 sq. fr., 50000 sq, f.
(D) None of the above “) (B) 5000 sq. ft., 10000 sq. ft.
56. Sustenance allowance at the rate of INR,__ ' (C) 1500 sq. ft., 25000 sq. ft.
17,500 per month per startup for &, " (D) 10000 sq. fi., 5000 sq. fi.
period of one-year up to“;“““""“-'-j" 60. —mmmmmmmmmeeee- are the most critical
startups per incubator per“:y@_a:f;.éhall be component of startup ecosystem.
given to startups at th?_ide'éi-ss:[’agé. (A) Researchers
(A) 20 (B) Innovators
(B) 25 (C) Incubators
(€) 30 . (D) None of the above
(D) Non “Of the above 61. Center of Excellence (CoE) shall be
57. Flnanmal support to incubators up to---- AppEoNEd By the ces-usumae 6 dhie
& ".".__._:.‘_.; ~—-per year to cover operational recommendations of PMIC.
« \/ _ ) (A) Hon. Cabinet of Govt. of Uttar
s expenditure for --------mmmemmene- or until Pradesh
self-sustainable whichever is earlier. (B) Hon. Chief Minister of Govt. of
(A) INR 30 Lakhs, 3 years Ulitar Prafledh
(B) INR 20 Lakhs, 3 years (C) Hon. Minister of Finance Govt. of
(C) INR 20 Lakhs, 5 years Uttar Pradesh
(D) INR 30 Lakhs, 5 years (D) None of the above
SET-D Page - 7



PART B : ANALYTICAL REASONING AND GENERAL AWARENESS

62. Department of --emeeemmeeeee- shall 66. For deliberation on the policy matters,
support incubators supporting ODOP interdepartmental  collaboration  and
products in each of the identified . .

progress review on the policy
clusters under the ODOP scheme.
_ implementation outcomes the Steering
(A) Finance
(B) MSME Commuittee shall be chaired by:
(C) Tourism (A) Hon. Chief Minister, Govt.y of
(D) None of the above Vit Piadasl e W

63. The Government of Uttar Pradesh has (B Hon Mirister QfIT %
established UP Startup Fund for . -

o Electronics, Gowt. @6t Uttar
providing access to finance to startups e L\ N
in Uttar Pradesh of: Pradesh
(A) INR 10000 Crore (C) Chief Secretary of Govt. of Uttar
(B) INR 10010 Crore Pradéé_jhf
(C) INR 1000 Crore (D) None oF this abeve
(D) INR 10100 Crore

64. State level annual startup ranking 67 WIheK'is: nota;gaal of startup poliey of
framework (UPrate) shall be introduced ~ . the state of UP?
for GoUP registered incubators and (A) Establish/support 100 incubators,
startups which will be evaluated bast?_(.:l___: minimum one in each district of
on predefined parameters. Which ofithe\,

AN the State
following shall be the approyal
authority for defining these Snal (B) Create the ecosystem for at least
ranking parameters? N\ 10,000 startups in the state
(A) Steering Commiﬁee (SC) (C) Establish 8 state of the art Center
(B) Policy '.-,:-‘.{.‘_gxé[;bn'itor‘ing & of Excellence (CoEs)
hnpleq;eg%‘gon Commitiee (PMIC) (D) Establish India’s largest incubator
(C) Admunistrative Committee (AC)
o N\ : in Varanasi
(D) ( Nodal Committee (NC)
63. Key -EB‘;?fformance Indicators (KPIs) for 68. The state of Uttar Pradesh has
"-'pef"iodic assessment  of incubator’s _ o
N\ WV o announced its first startup policy in :
. Jperformance towards achieving the
~ policy goals shall be approved by: (A) IT & Startup Policy 2017
(A) Steering Committee (SC) (B) IT & Startup Policy 2016
() Fobigg Monitatmg e (C) 1T & Startup Policy 2020
Implementation Committee (PMIC)
(C) Finance Committee (FC) Dy Hont ol te ahove
(D) None of the above
SET-D Page - 8



PART B : ANALYTICAL REASONING AND GENERAL AWARENESS

69. A number is mistakenly divided by 5 73. Six people A, B, C, D, E and F are
instead of being multiplied by 5. The sitting around a circular table facing the
percentage change in the result due to center. B sits second to the right of E. C
this mistake 1s: sits to the immediate left of E. F sits
(A) 96% second to the right of D. Who sits third
(B) 95% to the right of A? \
(C) 2400% (A) D
(D) 200% B) C

70. The average age of a class of 30 (C) E
students and a teacher reduces by 0.5 (D) B
years, if we exclude the teacher. If the 74, As Ireflc:::héélf:t.’he’gtation, I came to know
initial average is 14 years, then the age t}}at Ireached 30 min earlier. And the
of the class teacher is: traiﬁ"”i‘a‘fas 1 h and 30 min late, so it
(A) 26 years > .;:frrived at 6:20 O clock. When did I
(B) 29 years reach the station?

(C) 27 years (A) 4:40 0O’ clock
(D) None of the above. ‘ (B) 5:100 clock

71. If x/y = 3/4, then thc? Val __e;i“of; the (C) 5:200 clock
expression, (5x-3y)/(7x+2y)1s (D) 4:200 clock
(A 321 N \ 75. A man travels 4 km due North, then
(B) 5/2‘2_:‘}! \ travels 6 km due East and further
(C) 31’29 travels 4 km due North. How far he is

__ (D) ':“‘*5-/ 33 from the starting point?

721fp, g, 1, s, and t are five consecutive (A) 10km

N\ even numbers, then their average is: (B) 14km
(A) (ptqfristt) (C) 8km
B)  Sptqtristy) (D) None of the above
(C) (p*q*r¥*s*t)/5
(D) None of these

TEIT
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